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DEFENCE AND STRATEGIC STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)
marks. Attempt all the questions.

1. Which General won the Bangladesh War for India in 1971 ?

(A)  Gen. K. M. Kariappa (B) Gen. S. Roy Chowdhury
(C) Gen.J.J. Singh (D) Gen. S. H. F. J. Maneckshaw
2. “The political power of a country is largely determined by its geography.” Who
among the following advocated this thesis ?
(A) . Carter (B) Karl Houshofar
(C) W. Michell (D) Douhet
3. Which among the following is not considered as the element of National Power ?
(A)  Strategic purpose (B) Will to pursue national strategy
(C)  Critical Mass (D) Human Development Index
4. The term ‘Détente’ refers to

(A) Relaxation in military tensions between two or more States.
(B)  Accretion of economic co-operation.

(C)  Friendly relations between two or more States.

(D) Military alliance between two or more States.

S. Who among the following popularised the notion of ‘Industrial-military complex’ ?
(A)  President Eisenhower (B) Raymond Aron
(C) Paul Kennedy (D) Robert McNamara
6. ‘Environmental Security’ is generally seen as a
(A) Non-traditional Security (B) Military Security
(C)  Economic Security (D) Regional Security
7. “War is the continuation of policy by other means.” Who said it ?
(A)  Henry Kissinger (B) Clausewitz
(C) Mao Tse Tung (D) Kautilya
8. Which one of the following is considered as a primary determinant of defence budget ?

(A)  Threat perception

(B) Military preparedness of the adversary
(C)  Pending military modernization

(D)  Prevailing global strategic environment
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9. Which one of the following is the primary objective of insurgency ?
(A)  To help foreign government.
(B)  To destablize one’s own government.
(C)  To establish separate government.
(D)  To revolt against one’s own government.

10. Which one of the following is not the fundamental objective of National Security
Policy of a Nation-State ?
(A) To safeguard territorial integrity.
(B)  To maintain domestic peace.
(C) To preserve sovereignity.
(D) To promote universal peace.

11.  Which of the following is not the principle of ‘Defence Economics’ ?
(A)  All expenditures on defence forces are wasteful.
(B)  Till universal and perpetual peace is established, there is a need to incur this
expenditure.
(C)  This expenditure must be adequate to maintain the security of the Nation-State.
(D)  This expenditure could be at the cost of civilian expenditure.

12. Kautilya’s Arthasastra was found in 1905 by one of the following scholars :

(A) Sama Sastry (B) Lal Bahadur Sastry
(C) Ram Kishan Sastry (D) Shyama Prashad Sastry
13. Which one of the following is not the major constituents of Indian Ocean area ?
(A) Andaman Sea (B) Gulf of Hormuz
(C) Timor Sea (D) Red Sea
14. “International Alert” an NGO, is concerned with one of the following activities :
(A)  Prevention of Conflict (B) ‘Peace-Making’
(C)  ‘Peace-Keeping’ (D) ‘Peace-Building’
15. ‘CBMs’ were first introduced in one of the following Conferences :
(A) Helsinki Conference (B) Lahore Summit
(C)  Agra Summit (D) Vienna Conference

16. Given below are two statements, one labelled as Assertion (A) and the other as

Reason (R) :

Assertion (A) : Terrorism is an act of violence or threat to use violence to instil
fear in the hearts and minds of people to gain certain pre-meditated
goals.

Reason (R) : Terrorism is used as a means to achieve a number of goals through
selective or indiscriminate violence.

In the context of above statements, choose the correct code :

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C)  (A)is correct, but (R) is not correct.

(D)  (A) is not correct, but (R) is correct.
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17. Given below are two statements, one labelled as Assertion (A) and the other as

Reason (R) :
Assertion (A) : The international situation and the basic factors which lead to war
cannot be altered by mere intervention in the field of military

technology.

Reason (R) : There is no conclusive proof that, under all circumstances, arms
cause wars.

In the context of above statements, choose the correct code :

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C)  (A)is correct, but (R) is not correct.
(D)  (A) is not correct, but (R) is correct.

18. Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R) :
Assertion (A) : Mao had aptly compared guerrillas to fish and the people to water
in which they swim.

Reason (R) : Guerrillas could seldom succeed without popular support.
In the context of above statements, choose the correct code :
Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.
(C)  (A)is correct, but (R) is incorrect.
(D)  (A)is incorrect, but (R) is correct.

19. Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R) :
Assertion (A) : A.T. Mahan identified both ‘National Character’ and
‘Governmental Character’ as the elements of Sea Power.

Reason (R) : To Mahan, strong Navy was essential for the US supremacy.
In the context of above statements, choose the correct code :
Codes :

(A) Both (A) and (R) are correct.  (B) (A) is true, (R) is false.
(C)  (A)is false, but (R) is true. (D) Both (A) and (R) are false.

20. Given below are two statements, one labelled as Assertion (A) and the other as

Reason (R) :

Assertion (A) : There is no victory in a Limited War unless the objectives are
defined in the opening rounds of the conflict.

Reason (R) : In situations of Limited War, national objectives, resource use and
military objectives are also well-defined.

In the context of above statements, find out the correct code :

Codes :

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are correct.

(C)  (A)is correct, but (R) is incorrect.

(D)  (A)is incorrect, but (R) is correct.
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21. Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : There is no single cause for War. Peace, in strategic parlance, could
be considered as an equilibrium among many forces.

Reason (R) : Change in any particular trend, movement or policy may make
conditions for peace, but under different conditions, similar change
may invite conditions for war.

In the context of above statements, choose the correct code :
Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C)  (A)is correct, but (R) is incorrect.

(D)  (A)is incorrect, but (R) is correct.

22. Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : The Indian Ocean has remained an area of strategic importance
since early times.

Reason (R) : Geographical location of Indian Ocean, its sea routes, its vast
repository of natural resources and densely populated countries
along its shore add to its significance.

In the context of above statements, which one of the following codes is correct ?
Codes :

(A)  (A)is correct but (R) is wrong.

(B) Both (A) and (R) are correct.

(C)  (A)is wrong but (R) is correct.

(D) Both (A) and (R) are wrong.

23. Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : Sino-Indian border dispute seems to be legacy of historical past.

Reason (R) : There was lack of political will between different parties, therefore,
it remained a customary border.

In the context of above statements, choose the correct code :
Codes :

(A)  (A)is correct but (R) is wrong.

(B) Both (A) and (R) are correct.

(C)  (A)is wrong but (R) is correct.

(D) Both (A) and (R) are wrong.
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24. Given below are two statements, one labelled as Assertion (A) and the other as

Reason (R) :

Assertion (A) : Militarisation of Indian Ocean area is becoming major threat to
global peace and security.

Reason (R) : Indian Ocean is a gateway for other Oceans and the economic
interests of nations are at stake.

In the context of above two statements, which one of the following codes is correct ?

Codes :

(A)  (A)is correct but (R) is wrong.

(B) Both (A) and (R) are correct.

(C)  (A)is wrong but (R) is correct.

(D) Both (A) and (R) are wrong.

25. Given below are two statements, one labelled as Assertion (A) and the other as

Reason (R) :

Assertion (A) : National Power is a mix of political, economic, military, social,
psychological, moral and other strengths and weaknesses of a
National-State in a given environment.

Reason (R) : The strengths and weaknesses of a Nation-State are determined
relative vis-a-vis the opposing Nation-State and other political
entities of the international system.

In the context of above statements, choose the correct code :

Codes :

(A) Both (A) and (R) are correct.

(B)  (A)is correct, but (R) is not correct.

(C) Both (A) and (R) are not correct.

(D)  (A)is not correct, but (R) is correct.

26.  Arrange the following events in order in which they were occurred. Use the code
given below :
L Israeli capture of Golan Heights.
IL. Chinese suzerainty over Tibet.
III.  Egyptian crossing of Suez Canal.
IV.  Cuban Missile Crisis

Codes :
(A  LILIOL IV B) ILIOLIV,I
© IV,LILIIO (D) OLIV, LI

27.  Arrange the following events in order in which they were occurred. Use the code
given below :
L UN Declaration of Israel as a Nation-State.
IL. UN Universal Declaration of Human Rights.
II.  Israel’s pre-emptive air strikes on Egypt.

IV.  ‘Declaration on Principles’ for Palestinian cause.
Codes :

(A) LILIIL IV (B) IL ML IV, I
(©) O I, 1v, 1 (D) IV, ILILI
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28.  Arrange the following events in order in which they were occurred. Use the code
given below :

I Oslo Peace Process for Palestinian cause.

IL Camp David Accord.

III.  Canberra Commission on the elimination of Nuclear Weapons.
IV.  Khartoum Conference on West Asia.

Codes :
(A  LILIOL IV B) IV,ILLII
© ILIOLIV,I (D) OLIV, LI

29. Identify the correct sequence in chronological order :
(A)  Cannon, ballistic missile, tank, radar
(B)  Ballistic missile, cannon, tank, radar
(C) Radar, cannon, ballistic missile, tank
(D) Cannon, tank, radar, ballistic missile

30.  Identify the correct chronological sequence of the following :
(A)  Trench warfare, phalanx, blitzkrieg, aerial bombardment
(B)  Phalanx, trench warfare, aerial bombardment, blitzkrieg
(C)  Blitzkrieg, aerial bombardment, phalanx, trench warfare
(D)  Aerial bombardment, blitzkrieg, phalanx, trench warfare

31.  Arrange the following treaties in order they were concluded. Use the code given
below :

L Treaty of Rerotonga

IIL. Treaty of Tlatelolco

III.  Initiation of the Comprehensive Test Ban Treaty
IV.  Pelindaba Treaty

Codes :
(A  LILIOL IV B) ILLIV, I
© L IV, I, 1 D) IV, IL LI

32.  Arrange the following theories in the order in which they were conceptualised. Use
the code given below :

L Strategy of Massive Retaliation
IL. Theory of Absolute War

III.  Strategy of Flexible Response
IV.  Strategy of Indirect Approach

Codes :
(A) LI IIL IV B) 1L 1V, 1
© HOLIv, 1,1 D) ILIV,LIIO



28.

29.

30.

31.

32.

ikl TeATeT I 39 9 H AfSa wivw a9 o gfed g8 & | A9 K3 ™ e &

I

L TR IoTec =T TwT o foTu 3Tt Titay Wifsha |

I % foe que |

II. iR gRERT o foetio &q SeerT HHIeH

V. ufeaw o ® 9gd I |

FT :

(A) LILILIV (B) 1V, I 1, I
(©) ILILIV,I (D) HLIV, LI
FHTHIAR el 4 fafea wifsw :

(A) o, SfciRes veiurE, 3, TER

(B) sfciftes yeiured, @M, 3, TER

(C) =R, dm, Sfcifies weur, <%

(D) dM, oo, TSR, Sciiesh TeaTet

fifeRer o1 et hretsR foerr fafeaa Sifsw

(A) TR g5FH, o, feetesshn, gam aHart

(B)  tholo, WIS JgohH, Bas THaR, feetastohiT

(C)  feoTesTshiT, o SHaRI, thetdd, TS F5HH

(D) %o SHaR, foeTesTehi, e, e J5FH

TeAitena Gt ot 39 o1 B IR e ST FH A 3 g8 § | F 98 73 e 3T T whifeTu
I [ Gt

I oot |y

III. =AY TP TRIETOT UTqerer WreT ST TIREST

IV. dieHean 9

FT :

(A  LILIL IV B) IL LIV, I
(©) ILIV,ILI (D) IV, IL LI
TAifRa FagT=l Sl 39 3hH | AT v, ©EH & wfquied f6d ™ | e 59 ™ % F
TG It

L e TorTTet UTqehR ht Srastt

I ogs % Esm

L e TR st st

IV.  3T931eT SUTET ht SAersit

FT :

(A  LILIL IV (B) IL 1L IV, I
(©) ILIV,ILI (D) ILIV, LI



33. Arrange the following books in the order in which they were appeared. Use the code
given below :

1. On War

1L Memoirs of An Unconventional Soldier
III.  War and Peace

IV.  Arthashastra

Codes :
(A  LILIOL 1V B) ILIOLIV,I
(© I, IV, II, 1 D) IV, LIL I

34.  Arrange the following tactics in the order in which they were brought into practice.
Use the code given below :

L Blitzkrieg

1L Web Defence

II.  All Tank Tactics

IV.  ‘Shock and Awe’ tactics

Codes :
(A) LI IIL IV B) ILILLIV
© HOLLIV, I D) IV, IL LI

3s. Identify the correct sequence of range (longest to shortest) of the following weapons :
(A)  Cruise missile, ICBM, Tactical fighter, Stinger
(B) ICBM, Cruise missile, Tactical fighter, Stinger
(C)  Stinger, ICBM, Cruise missile, Tactical fighter
(D)  Tactical fighter, Stinger, Cruise missile, [CBM

36. Match the following authors (Table-I) with their respective books (Table-II) :

Table-1 Table-11
(a) A.T.Mahan (i) A Study of War
(b) Z.A.Bhutto (i1)) The Life of Nelson
(¢) Quincy Wright (iii) Friends not Masters
(d) Ayub Khan (iv) Myth of Independence
Code :

@@ (b (© (@
A ® @ @) @Gv)
®) Gy aGv) @ (i)
© Gy @ @ @)
O Gv) (@) @) @O



33. fTehel JEAhT Pt 3T ShH T TSI hifTe, T o wehrer | 3R | A9 753 T3 e 1 W

FHIfTT :

I. 3 IR

II. H=EEd 3 U 3oy Gioei

II. 9Rruve 9g

IV.  31emmes

P :

(A LILIIL IV (B) IL LIV, I
(©) ILIV,ILI (D) 1V, LIL I

34,  ToAiToRd WERCHT S 39 ShH | AT oY, NTEH o W& § o T 9 | A 59 T %

TG It

I footeswrm

I STl ufaeeT

Il |wot oo TR

V. ‘3l UUg 3t ToRas

HE:

(A) LILIILIV (B) ILIIL I IV
(C) MLLIV,II (D) IV, IIL 1,11

35.  fwAifeRd efraRT ol 3Heh AR S i X o et sHH i fafed it
(A) ST TEUE, 3T G o U, orerg faue, e |
(B) 31 Tt &t W, s WeiuTe, ererh fom, RaR |
(C) TR, 31 4l st UH, 3T W&, TS o |
(D) e faum, eTR, et e, s @ T |

36.  TAifeRd oi@eht (qATfetehT-1) St Seht qRaehi (iferent-11) & gafed i ;

aferat-1 aferat-11
(a) w2 HEd (i) UwEl3ihar
(b) ST T g (i) T EE 3 Fou
(c) foerdi e (i) Thed = AR
(d) sEEEH (iv) Toer oife Sfeuea

F:

@ ) (© (@
A @ ) () ()
® a Gy @ (i)
© @y @ G Gv)
D) Gv) @) Gv) (@)



37. Match the following :
Table-I Table-11
(a) Winston Churchill (i) End of History and the Last Man
(b) Francis Fukuyama @i1) Clash of Civilizations
(c) Samuel Huntington  (iii) Iron Curtain

(d) B.B. Ghali (iv) Agenda for Peace
Match the above exponents with their respective theses.
Codes :

@ (b (© (@
A ® @ @) @Gv)
B) G @ G (v
© @ @) @O G
®©) O (@) (Gv) G

38.  Match the following from Table-I and II as per the codes given below :

Table-1 Table-11
I. 123 Agreement (a) Forty-five member States
II.  Nuclear Suppliers’ Group (b) Nuclear Agreement
II. HEU (c) Information Flow and Control
IvV. C41 (d) Over 90% enrichment

Codes :

1 1I 111 v
A @ O © @
@) b @ @ (©
<© ® © @ @
M@ @ © @ O

39.  Match the following items from the Tables-I & II on the basis on codes given below :

Table-1 Table-1I
I.  Terror Training Camps (a) Sino-Indian disagreement
II.  Arunachal Pradesh (b) Afghan-Pakistan border
III. Avadi (c) India’s tank production
IV. Scorpene (d) French-licensed submarine for India

Codes :

I II I v
A b @ © @
@) ® (@© @ @
© © @ ® @
M @ ® © @



37.

38.

39.

et e T -

afert-1 anferest-11
(a) Fores afaa (i) de 3i fedt Uoe § AR A
(b)  HiTaE FHaTH (i) e 3w fafeoemesiea
(c) Tyt Eferea (iil) A A
(d) . &, =t (iv) TIET®HR U |
SRS UTCTUTEERT Shl SRt (TRUTTST & FHoT ShifeTd :

F:

@ ) (© (@
A @ ) () Gv)
® Gy @ G Gv)

e 52 T e & AR Aifershr-1 wd 11 § fifere s gaferd ifse :

© G @) @G @v)
D) @ @) @Gv) D)
ferat-1
L 123 g|ghar (a)
. v smmafaekd a8 (b)
. waszyg (c)
IV. C4l (d)

FT:

I II I v
A @ @® (© @
B (® @ (@ (©
© ® © @ @
@ @ © (@ O

atferenr-11
T e <%
R T
T Tl o 0T

90 UTcTeTe & 3 Tg5

e T3 T e & TR W atferent-1 we 11 3 FH=itehd H&T ol GHferd i :

afereer-1
I 3Trcienl uferetor forferk (a)
II. 3TUTeet JeeT (b)
Il  sfere (c)
IV. @it (d)

FT:

I II 1 v
A bd @ (@© @
B) (® (© (@ (@
© © @ (@® (@
® @ ® (© @

anferest-11
-9 HANT
STHIT-TT TR T
R T I IAE
T ATEE e IR o felT geigesit



40. Match the following countries (Table-I) with the years (Table-II) in which they

ratified NPT :

Table-1 Table-11
(a) USA @i 1970
(b) Russia (i) 1970
(c) France (i) 1992
(d) UK @iv) 1968
Codes :

@ (b (¢ @
Ay @O @ 3>)  @Gv)
B) @Gv) @) G @
© G G Gy @
®©) O @) G 3Gv)

41.  Match the following items from the Tables-I and II on the basis of the codes given

below :
Table-1 Table-11
(Military Hardware) (Country)
I Falcon Radar (a) USSR
1L U-boat (b) USA
III. MX Missile (c)  Israel
IV.  Backfire Bomber (d)  Germany
Codes :

I II I v
Ay @ B (© @
B @ @© ® @
<€ © @@ O (@
® @ @ @© O

42.  Match the following items from the Tables-I and II of the basis of codes given

below :
Table-I Table-11
(Agreement) (Countries)
I. 123 Agreement (a) India-China
II. START (b) India-US
III. INF Treaty (c) US-USSR
IV. Peace and Tranquility Accord  (d) US-USSR
Codes :

I II 111 v
Ay ® @ © @
B) @ ® (© @
© b © @@ @
@ © @ @ @O



40. TR <=1 (ATfereRt-1) 1 3 ot (ATferent-11) 3 |1 GRier ity e 38 T, . 2. &

arfeest-11

1970
1970
1992
1968

41. i ST U Fe o SR W atfershr-1 w11 o f=Aifeha TaT st GRTTd it :
arferar-11

Em)

QSR
qTHT
EENE]
ST

42. i 2 TS e o STMER W Alfershl-1 wa 11 o Fifehe #]T i FRTeTd it :

gfez =0t :

aferent-1
(a) JwET 1)
(b) w= (ii)
(c) wa (iii)
(d F* (iv)
HT :

@ @b @© @
A @ @y @) (1v)
B)  Gv) @) G) @)
© (@) @Gy Gy @)
D)y @ @) @Gy (1v)

dferent-1
(A= A =I-|H)

I. o qeR (a)
1. 3Fae (b)
. TH U verre (c)
IV. S$%HRR TS (d)
HT:

1 II II1 v
A @ O (© (@
B @ @© b (@
© @© @ O (
DG @ @ (@© (b

AferaT-1 (W)

L 123 g
. we
II. 327 U9 u% 4y
IV. U Uvg doelifeidl Uehrs
HT :

1 II II1 v
A b @ @© (@
B @ ® (© (@
© ® @© @ (@
D @© @ (@ (b

arferet-11 (3T)

(a) YRaA-=i=

(b) YRA-STARRT

(c) JUH-JTHATH IR
(d) JUE-JTHAUH IR



43. Match the following treaties (Table-I) with the year of their entry (Table-II) year :

Table-1 Table-1I

(a) INF Treaty (1) 1987
(b) Indo-Soviet Friendship Treaty  (ii) 1963
(c) Partial Test Ban Treaty @) 1971
(d) START-I Treaty @iv) 1991
Codes :

@ (b (© (@
A) @O @) aG) (1)
B) G G Gy @)
© O G @) (@Gv)
D) Gv) @) @  3>)

44, Match the following :
Table-1 Table-I1

(a) OAU i 1967
(b) ASEAN (i) 1963
(c) SAARC (i) 1985
(d OAS (iv) 1946
Codes :

@ (b (© (@
A @ G @) (@Gv)
B) @)  Gv) G @)
© ay @ ) (Gv)
D) Gv) G G @)

45, Match the following concepts (Table-I) with their respective associated activities

(Table-II) :

Table-1
I.  Zero intensity Conflict (ZIC)
II. Low intensity Conflict (LIC)

III. Mid Intensity Conflict (MIC)
IV. High Intensity Conflict (HIC)
Codes :

I I III v
A @ O © @
B © @ @ ®
© ® © @ @
D @ ® © @

(a)
(b)
(©)
(d)

Table-I1

Psychological Warfare

Terrorism , Insurgency, Guerrilla Warfare
Conventional Warfare

ABC Warfare



43.  fAAifeRd et (anferert-I) i 397 AN 214 o oY (aTfetert-11) & |re GHferd shifeTu :

atferest-1 anferat-11
(a) TS UF UF WY (i) 1987
(b) “Ra-wifaad w= wi (i) 1963
(c)  3ifeTeh URTeToT Uicere Wiy (iii) 1971
(d) wre-I gwsiar (iv) 1991

Fe:

@ (b (© (@
A @ G G aGv)
®) G G aGv) @)
© @O G (i) ()
D) Gv) G @ (i)

44.  T=AiTRd ot GHTCTT HITTT :

aferr-1 anferest-11
(a) smuy (i) 1967
(b) enfEEm (i) 1963
(c) w (iii) 1985
(d) efivum (iv) 1946

F:

@ (b (© (@
A @ G () Gv)
B®) G aGv) G @)
© G @ () Gv)
D) aGv) G () (@)

45.  FAifeRd STareROTS (ATfeteRt-1) St 37 raf-ad fsranstt (arfersrr-11) & gHferd it

aferat-1 anferest-11
[ <RI Erad Hifterae (57h) (a) TAEEE JgHH
II. o et hifveree (b)  ATIHATR, fowTd, SR JFhH
1. firs 337 ez (c) PR JEFH
IV. & $adt swifveree (d) ud T IEHY

FT:

I II 1 v
A @ @b (© @
B) © @ (@ (O
© ® © (@ @
@ @ b © @



46.

47.

48.

49.

50.

Read the passage below, and answer the questions that follow based on your
understanding of the passage :

The great Mahatma captured the true nature of nuclear weapons in these
words “Those nations who have atom bombs are feared even by their friends.” From
the very beginning, nuclear weapons were instrumental of terror and, therefore, of use
for coercion. Security with nuclear weapons is achieved through generations of
insecurity in the minds of other States. This is obviously a fragile basis for
establishing peace and security. But the problem is that if one State possesses nuclear
weapons, the only option for other countries to defend themselves against the threat of
such weapons is to acquire similar weaponry to deter possible use. Mahatma Gandhi,
with his deeper understanding of human nature and affairs of men and States, had
recognised from the very beginning that the atom bomb played a political role.
Contrary to what might have been expected of the apostle of peace, he did not react
for months, at least publicly, to the use of the atom bomb in Japan. However, his
concern about its nature, especially as a horrendous weapon of mass destruction, was
intense. He was to later describe it as a diabolical instrument of violence. But for
months after the bombs were dropped on Hiroshima and Nagasaki, he kept silent
because his concern was about the possible “use” of the atomic bomb to deny India its
independence. It was only after the commitment to India’s independence became
unambiguous that he came out against the bomb publicly.

Nuclear weapons are the instrument of

(A)  Faith (B) Deterrence

(C) Politics (D) Mutual suspicion
Mahatma Gandhi had recognised that the atom bomb played
(A) A political role (B) Military role

(C)  Economic role (D) Abstinence

Which one of the following is a diabolical instrument of violence ?
(A)  Terror (B) Threat
(C) Atom bomb (D) Leadership

Mahatma Gandhi came out against the bomb publicly :
(A) before India’s independence

(B) after India’s independence

(C) after the commitment to India’s independence
(D)  during World War-11

The central message of the above passage is

(A)  Nuclear weapons are the instrument of peace

(B)  Nuclear weapons are the instruments of deterrence

(C)  Nuclear weapons are the instruments of faith

(D) Nuclear weapons are the instruments of burden-sharing in the international
society.
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9T UR=eg Ul SR 3TOT FHET & SR W 3id | 3 T3 991 & 3R 157 |

TET HETcHT STt F TR ETERT oht Sdoreh Uehid i & 91531 | Uehs fordm & — “Foi
TSI o U USH 99 & 39 R o ST S € |7 URY T & T gER 31T o SUehiol
W & 3R Tifcr 39 & ford Teamet 8id @ & | ATehig SUshull gRT g8 w1 o A |
STRETT 3c0—~T TR R BT ol STl § | T AR W UMt 3R GRET 1 Fi T Tg FHAR
MR & | Tifech THET IE & o 3R Ueh 59 o UT ATIhia BRER € of S8 o4 & Ire o
ZRRIRT & TR @ TEH T THHH ey el § foh 3 Tt w1 ferty wR o ot aa g
TR et X o | AHe Wehid 3T TRHT 3R I o G-l shi 3191 el SR ot asTe
T HETCHT el 3 YR W & THet foran o o ueH 9 Isiitdes iRt T & | 9 & 3 weter
J MM o forodid STI | UeH o9 & YA W H9 9§ FH FesTeh aR 9 df TeHT g Hidfshal
TET AT | TR ITh! TR, TorstoeRt e fommeT o 20 sR@R o fd 3Rt o et o |
e H IR 3H T T N U T FeT | iR S FEAl % a1 e R 31
IATTER! T TR o TR Tt 3 goft 9T @; Hiih g6 ST off foh YR i Tedi=ar 7 3
% ToTd wed o) o1 ot ST foFaT ST Wehel &,  9F o Rao Hesi-eh &9 9 Tt el Sef
IR T AT S 3T T FATAET T 1 T |

46. TR EREN ST E

(A) fovEm@ss (B) wiatigear &

(C) TsHIa® (D) URERF I &
47.  HECAT TiE S foran o foh ven 9w v g

(A) T TSI iRt (B) @R sgfirenr

(C)  amifes gfveR (D) Eaw v
48. = 9 i & o uen duntes Susur e 2

(A) (B) «Hert

(C) wem (D) g

49.  TETCH TMiE 5 o GeAT® Arersi-e T 9 el
(A) IR I T & Tt
(B) YR o W=l & 915
(C)  ¥RA ol W 37 & GO FAS o qvaq
(D) Tgi= fovags & SR

50. Y UNTST I hT W9 T & TR
(A) i BRER wifd & WA E |
(B) Aiyena efER waRed & | € |
(C) TR ERER fovard & Qe € |
(D) TR ERER RIS GaT H fHgR) sic & e & |
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